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119/2025-T

1. Date of Temple Entry Proclamation issued by Sree Chithira Thirunal is,
(A) October 12, 1936 (B) November 12, 1936
(C) August 12, 1936 (D) December 12, 1936

2.  Who started the Newspaper “Kerala Kaumudi” to represent the marginalised Ezhava
masses in the public sphere of Kerala :

(A) T.K.Madhavan (B) C. Krishnan
(C) Kesari A. Balakrishna Pillai (D) C.V. Kunjuraman

3. Among the following statements which is not true regarding the aftermath of the Revolt
of 18577

(A) Governor General of India came to be known as Viceroy of India
(B) It marked the end of East India Company’s rule
(C) The Charter of the Company was renewed for twenty years

(D) The office of the Secretary of State for India was created

4.  Which among the following was not included among the principles of India’s Foreign

Policy?
(A) Non-alignment
(B) Peaceful co-existence
(C) Promotion of international peace

(D) Policy of interference and settling in other country’s internal affairs

5.  Which of the following statements regarding the impact of the French Revolution was

wrong?
(A) End of autocratic rule of Bourbon Kings
(B) Laittle improvement in the condition of middle class
(C) Decline in the supremacy of the Church
(D) Declaration of Human Rights

6. The proposed deep-sea port ‘Vadhavan’ is located in which State?
(A) Maharashtra (B) Andhra Pradesh
(C) Gujarat (D) Karnataka
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1. b HsHenrs HmmmeT eusfluiiL Camuisy mienpea Ll NysLeTsHSler CoHs) :
(A)  o606umuy 12, 1936 (B) meubuiy 12, 1936
(C) <yssivl 12, 1936 (D) yewuy 12,1936

2.  Gayemmeferr QUTEIS Hlenmuiley rriisLlLUILLL Flpel waEemeTL TS HHsaIeuILBSS “Carer
QaeTWd) eredTm LSS Nensens QG TLREWweuF wmy?
A)  14.Cs. wrs6uEDT B) & H(weigesorest
(C) GCasefl A. umeud) (meiwewsr LNsTemerr (D) C.V. &Epaymwesr

3. 1857 gyb syetr(h) HVSSHSMGL LNME gOHULL 6llenerayssT GMISHg LesTeu(md Fammiserley
6TEMEU 2_6TITENLOWIEV6V?
A) @bpsHw seuFerty ClegeTrsy @bSHIITeN6T emeLeVTTI 6TeTM| HMIWLILILLTT
B) @& HypsHHHIWw &DLELsTuN6T L Hufeir (Pigeneus &M &SS5]
(C) BlmieuetTsE6r FTF6TD @) (HLIGI 4,660 (H &6 (S LGILINSHLILLLE)
D) @npéHw Geuslymeysd QFWEVTEITT SIEVIEU6VELD 2 (HEUTSHSHLILILLG)

4.  Netreu(meussTeummilev @nslwurelsr  Gleusfluymeys Cemstensullesr  GlamsTensserflsy
CarsaluLTag) 67g)?
(A)  oiewfGaymenio
(B) siemwdHwimest gseumpey
(C) FTeuCsa SemwHenw CbUHSSIH
(D) 9O mErigest 2 6T aNeusmrrigefsd Hensouil () &iey Sremb ClsmeTens

5. MNOrEpal Yrifluler sressb &6 NetTeu(mb sanmiserley gl Seummerg)?
(A)  Gumguesr wettestFserfletT TCHFFHHTT L& (Pl965 (& UHSSH
B) mBhHSsT uFsssHeT 6 Hlemsvuley Hmgeme (pestCerTHMLD
(C) Hmagamuulsr CuerHassHev Fifle]
(D)  weslg 2 fenwgsT LNT&HLESTLD

6. (WeTOLMPAHWLILLL YDPSHLED HIEMM(LPSLOTET ‘CUTHEUET 6THS LMIHEVSH6V B eMLDHSI6TETE)?
(A)  wsmyTeRlgTT B)  pHTUNFEsed
©) G2 D) simILEST
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7. The transition zone that separates the mantle-core boundary of the earth :
(A) Moho Discontinuity (B) Lehmann Discontinuity
(C) Conrad Discontinuity (D) Guttenberg Discontinuity
8. The most common instrument used to measure the relative humidity of a region :
(A) Ceilometer (B) Hygrometer
(C) Barometer (D) Hydrometer

9.  Which among the following statements are true regarding ‘Kurasio Current’?
(1) A cold sub arctic ocean current flowing through the east coast of Japan.
(i1) A warm ocean current flowing through the east coast of Japan.
(1) It is also known as Black Current.
(av) Itis a branch of West Wind Drift of Southern Hemisphere in South Atlantic Ocean.
(A) (i1) and (iii) only (B) (@) and (iv) only
(C) (i) and (iv) only (D) (@) and (i1) only

10. The type of data that describes the characteristics of a geographical feature in GIS.
(A) Raster Data (B) Spatial Data
(C) Non Spatial Data (D) Vector Data

11. Identify the plain in Northern India that extends between Satluj River Basin in

north-west to Yamuna Basin in the South-East.
(A) Rajasthan Plain (B) Ganga Plain
(C) Punjab - Haryana Plain (D) Brahmaputra Plain

12. Which city hosted the G20 Summit from 18-19 November, 20247
(A) Johannesburg, South Africa (B) Buenos Aires, Argentina
(C) New Delhi, India (D) Rio de Janerio, Brazil
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10.

11.

12.

LSlugesT GLoesTL6L-CaITTT eTeLemevemILILI LIfl& &)L HleneVLDTMM LOETETLEVLD :

A)  CurGamm QgrLigdufsrento (B) Qevamuwetr Qg mLisfullesTemio

(C) srmeryrl QsmLFEHUN6ETEMLD D) GLLaTQUFs GgTLFgFAuN6sTeno

®(H LGS W6t FTLLSSmS HemellL L1 LiwisTU(HSSLILIHIWD Wl&ese b Clumgleumsst &mel :
(A)  FCeumbLLry B) evamsCrmbLLy

(C) GuGymblLy D) evam CymbLLy

‘@rrACWIT BETTLLL’ Q&TLFUTesT L6dTeu(HLD Famm &6y 678 2 etorenio?

(1) uurefler HsE BLMHEEMT UPIWITES LITWLD (1 (&6 HIem6soT & F&les L6V BGFTLLLD

(1) guumeflesr Hls G SLMHSEMT eULPIWLITE LITWLD (T (ELT60T L6V [ECTTLLLD

(1) @&l smuy BCTTLLL ereTmIb SenLp&HeLILIHEIME)

iv) @& QsOHE Sleumerrys GCUmMRISLEON CFDHE AHorstamershHer ComE sSTmHMI

FMI&560160T 6(Ih HleneT Sy (&LD.
(A)  (11) womyw (iii) wL WD (B) (@) womb (v) wL (WD
(C) (i) woHmb (iv) LLEIWD D) (@) womw (i) LLEHIWD

GIS @6v e LeNuNweb basHletr LssoTLEensT eNeuifls G0 ST6y eUens :
(A)  gmevLy GuiLm B)  sGUA W CLi L

(C) mmerenGuA W6y CLLLm D) QeusLy GLLLm

oL @nbHlwmelley euLComEley 2 eTem  Flevgd HE UbHMSBEHEGL CH6TEINESE 6V

LBHem&ss G @emLuiley Hesor(hleTer FobleusTlenl Si6mLWITETLD &TesTeL :
A)  prmevgmeT F6leusf] B) srems Fw6suef
(O)  uEpsTi-anflwmesm Fw6leusr] D) YrwwysTT FE 66T

meubLy 18-19, 2024 sueny G20 26 wIBILEOL BLSHSIW BT 6757

WI(Lp6TIT

(A) Carssrermsivus, QserermiNflgsr  (B)  Muperen owifsiv, oif6leebTigest

©)  yzi Hleved), @iFwur D) AGw iy CeenCyrm, NCrHlen
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13. Which of the following was the broad vision of the last five year plan of the government
of India?
(A) Faster, sustainable and more inclusive growth
(B) Agricultural development led growth
(C) All round balanced development
(D) Garibi Hatao

14. With which of the following was the ‘New Agricultural Strategy’ concerned?

(A) Increase in the yield per acre of certain specific crops
(B) Encouragement of multiple cropping

(C) Use of modern farm practices for specific crops

(D) All of the above

15. Which is the first fully organic state in India?
(A) Punjab (B) Haryana
(C) Sikkim (D) Kerala

16. Which of the following is not true regarding GST compensation?
(A) The compensation scheme was designed to safeguard the states for any
difference in the new versus the old tax regime

(B) The compensation system was envisaged as a buffer to the state’s revenues in
the eventuality of a fall in tax revenues resulting from a collapse in economic
growth

(C) The compensation arrangement was meant to help states ride out the
differences in the inter-state distribution of GST

(D) None of the above

17. What was the main policy under New Economic Policy brought into force since July
19917

(A) Import Substitution Policy

(B) Monopoly Restriction Policy

(C) Stabilisation Policy and Structural Reforms Policy
(D) Foreign Exchange Regulation Act

18. What is the aim of International Financial Services Centre IFSC)?

(A) Facilitate India’s emergence as a preferred jurisdiction for international
financial services

(B) Facilitate agriculture sector financing
(C) Accelerate the growth of banking sector in India
(D) Maintain balance of payment stability

-6- A
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13. @bsHw rHler &LHS BHSTET(HS HLLSHH6T LFHE LITTen6u 6757
(A)  Geussomer, Hlemsvwimest LHMID 2_6TETLSHEIW 66T
(B) eNeusmw euergd) suemiElenw eulflbLEH WG|
(C) omerTs g sHM FOFST eueTFaE
D) &9 anLrGeur

14. ‘yHw efNeusmw 2 G&)' NedTeu(HeueTELDN6L TEMSLI LM Wig)?
A)  HAev GMIUINLL LUNTa6If6T 6788([HSE L& E:60 HE &I
(B) uev LT FTGULIYEHW 2615 (G695 560
(©)  GMUINLL LUNTaEHE S, HET6EST LIGTITEn6HT HEnL(PEDMEEN6ITL LIWLI6TL (H5E560
(D) Cuphaamu oemesT gD

15. @nHlwmells psev (P(enwmest sIflo WTHlevD erg)?
(A)  uEpeTl B) amflumesm
(C) &HsHbd D) GCaryerm

16. eteivig @LISH QSTLILITS LN65ToU (HEUSTEUM 6D 6T 2 6B3TeMLOWISV6V?

A) ydwu saufl epHEL uemPw eufl WeDEEGL @enLufevmest  erhB6leuT(H
aNGHwWTEsSHMEGHL  LIHlemsemer  UTHSTES  @QWUETLHES  SHLLmssTr
6119611650 & & LILILL 63T

(B) Qummermary susmyFfluliev Fiflefesr aflememouns suifl euHeumil 6IPFHWEMLHST6V,
@LUISL(H (e LTHI6L 6U(HEUMULISE) 6(TH @)6DLISLNS S(HSLILILLGI

(C) GST-wletr wTFHlVREISEHEE @enLCwwmer eNBCWTESH 2 6rer CeumLm(HaensT
wrhlevmiseT Fwmerfléas @LUTL(h gnumb) 2 &6 eusmELD

(D) Cumaamlwensu sgia b @svensv

17. ydw Qummermanrs C&meTensuiller S (WPaHW Gsmarens odensv 1991 W&y eLICLITE)
SDVIS S UHSSBI?
A) @D&EwsH LTHMIS C\&TETens
(B) gsturss sl Hiuum@) ClsTsTens
(O 2mHuunHSHS6 CsmsTens LMHMID SLLenwLIL FTH[HHHS C\&TeTems
D) sipHw QFsvmeusssi 62(LPMIEGWPMME FLLID

18. &FieuCsa Hd Caemsuser enwwgHer (IFSC) CrrasLbd erestesr?

A) sreuCses HlF CremeusEhsaTesT aNHLUULTERT SSTT  uTbUTES @S
2 _(HEUMEUENS, 6T6IF 1S TS (5560

B) eNeusmws giemm HlHwGaNemw er6rflgme & s60
(C) @nsHluraisy eurilg glenmuies susTygHenw &IflSLILHSS5I5H60
(D) &LLewtr Foblemev Hlemevs s etTemoemwLl LTSS 560

-7- A
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19. Which of the following statement is/are not correct about the Constituent Assembly of
India?

(1) Idea of an Indian Constituent Assembly firstly proposed by M.N. Roy.

(i1) The Cabinet Mission Plan of 1946 recommended for the creation of the constituent

Assembly.
(i11) Constituent Assembly first convened on 9t December 1946.
@iv) Dr. B.R. Ambedkar was appointed as the President of Constituent Assembly.
(A) Only () is correct and (ii), (ii1) and (iv) are not correct
(B) Only (11), (111) and (iv) are correct and (1) is not correct
(C) Only (1), (11) and (iv) are correct and (iii) is not correct

(D) Only (1), (i1) and (ii1) are correct and (iv) is not correct

20. Who is the chairperson of 16t Finance Commission of India?
(A) Dr. Arvind Panagariya (B) Jagadish Bhagavati
(C) Shaktikanta Das (D) Nanda Kishore Singh

21. Which of the following amendment/amendments of Indian Constitution as

Mini-Constitution?

1) 734 and 74" Amendments

(i) 420

(iii) 44tk

(1v) None of the above
(A)  Only (1) (B) Only (1) and (i1)
(C) Only (iv) (D) Only (1)

22. Which one of the following cases Supreme Court of India ruled on Basic Structure

Doctrine?
(A) Minerva Vs Union of India
(B) Maneka Gandhi vs Union of India on 25 January, 1978
(C) A.K. Gopalan vs The State of Madras

(D) Kesavananda Bharati case
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19.

20.

21.

22.

@nHW Srflwsveniolil Femuenwill Lnw NesTelHD Fammiseflsy erg FflwmeTas isv60?

()

(i)
(111)
(iv)

6TLD.6T63T. T (P&6516V (P6eTEILTLIHS @S STFlwievenioliL) Femu UMMlul Guirsener.
FLLOGTMSENS 2 (HeUuTHs 1946 oylb Y e00TigedT  SIMDEFTen6U  LOlagesT  SHlLLLD
UfbgIenT&HsLILLLE).

SITHWeVEMDLIL| FeOLI (PSH6T(PW&H6016V Lp&FbLT 9, 1946 Si6tTm) Falgwig|.

SITHWevemLIL| FenLIUNGST Hem6eveuTTas LTELT L.847. HDCLSST BIWLS&&LILILLTI.

A) (@) wLEGW slwTeTg WOMID (1), (1i1) wHMID (1v) FHWTETENEU Si606V

B) (@1, (111) womb 1v) wLHGW FNwTeTensu LHMID (1) FANWTETENE 606V

©) @), (11) oo (iv) LLHGW Fflwmesemsu MM (1i1) FHWTETENE 3606V

D) (1), 11) woHmb (111) LLHIGWL FflwmeTeneu WMHMID (1v) FFWTEsTEN6E {606V

@nHlwralesr 1698 B 160 6uTWISS60T HeMm6V6UT WITH?

(A)  LreLy opefbs uesramflwim (B) Qoxsgeas useud)
(C) ssHaMmHs STV D) pHs HCapMy H

@nHw Srfdlwevenioliiev LNesTeu(hd H(HSHSD/SH)(HESmIS6 6L 678 M| HTHwevenoliLg FLLD?

()

(i)
(111)
(iv)

73051 HMID 74951 &) (155 BhIEH6T

4205

4405

GuopsaBluaibB aziaqfeme

A) () wEo B) () wHmb (i) wrED
(€) (iv) wLED D) (i) wiEw

NesTou(HLD oSG &ETI6L 678 @bSHW 2 &5 HHIETMD SigliLienL SLLenLIL CaTLUTLIgeT L5g)

Sriiuefgg?

A)  WVGerTeur Vs @rbHlw gpestniliid
(B) Guwerram b vs @ibHw seesrmlwid 25 goevreuifl, 1978 oyettm)
(C) g.Gs. Camumevsst vs GILmsiv LomHleud

(D) Cassumerths LTTH) 6ULDE S
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23. Which Constitution/s India adopted Fundamental Rights and Directive Principles of
State Policy?

(1) American and Irish

(i1) American and USSR

(i11) British and USA
(A) American and Irish
(B) British and USA
(C) American and USSR
(D) None of the above

24. Who described the Directive Principles of State Policy as ‘novel feature’ of the Indian

Constitution?
(A) Jawharlal Nehru (B) Sardar Vallabhbhai Patel
(C) Dr. Rajendra Prasad (D) Dr. Ambedkar

25. Which one of the following statements on Citizenship is correct one?

(1) Right to vote in elections to the Lok Sabha and State legislative assembly is
applicable to both Indian Citizen and Aliens

(i1) The Constitution provides right vote in elections to the Lok Sabha and State
Legislative Assembly only to Indian Citizens and denies this right to Aliens

(A) Statement (1) is true
(B) Statement (1) and (ii) is true
(C) Statement (ii) is true

(D) Both statements are not correct

26. A command issued by the Supreme Court or High Court India to produce a person before

the court who illegally detained by the state or any other authority?
(A) Habeas corpus
(B) Mandamus
(C) Certiorari
(D) Quo Warranto (D D Basu P 137)

-10- A
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23.

24.

25.

26.

@BHWT 6THS HTHWevenLIL)/ el SjgliLenL 2 flenwseT LHMID WLTHeVE Cl&TsTengulles
UPSTL(H &6V C\EMETeN&HEHEM6N FMHMIE GBS TessTL &) 7
() oCwsEs whoid g6
(1) oewN&s HMID Careilwg eesTmlwid
(111)  Olgeis LHMID HCWH ST
Q) o6& LHMID e
B) Vlyew wLHMID HCIWLHSET
(C) =6wfés wHmb CeraNws epesTpilwid
(D) Cupaamlwensu eTgia b @svensv

wIHlevs Qe meTenauNeT UGS (HG6L Ol TETEnSSHem6T @HEW T wevenoliNesT ‘LS HDFLD’
ereoTm)| eNeufl G euy wmy?

A)  =meuamieumsy Cm(H B) FFsTy eusvevLIm LGLEY

(C) vLrmeLy prCmBAHrT NFFTs (D) LmaLy bCussy

Gwfleow @GmM&s LNetTeumd sanmiserfley g Fiflwmesrg)?

(1) wsseTemsu LOHMID WLIHlEY FLLWLETNS CHTHVH6Iflev euTHH6fSHEG0D 2 flenw @QnHws
(B9L0&60)|8 &L CleusIAIBTLLg63T(IHE G CILIM(BHSILD.

(1) &seTenel MM WAHeY FLLWWeTMS GCHFHeusEsfley  euTEHefGHEG0n 2 femwenw

ST WevemLDLILY @nsHlws (B9LDE5(ETHE S WL HGW 6ULMEIGEI MG LMHMILD
CleuefiBriigesT (& TeT @b 2 flenenw LMISSEME.

A) mM&sems (1) 2 esurenlo
B) oimMsems (1) wHMID (11) 2 6seTEnLo
(O oimMsems (11) 2 ssTenLo

D) @uestr(H) M EEMESHEHD FFWITETENE D606V

LIHlVSHTL  Hevevgl GCouml 6HE H&EMy  Feuwmibd sLLeNCrrswrs  S5hHHS
B6USSLILIL(H6TET 6(mHeusny HEITMHSHV U TUHSHILTN @HSIW 2 &8 HSIDTHLD 360608
2 Wi BHwestod NOLINES HLLE6T?

A) s lQasmewriey (CamNwen smyLen)
(B) GuoessrLineny
©)  srgCumA
D)  ®Gsum eurgesorGLr (DD umer 1 137)

-11- A
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27.

28.

29.

30.

31.

32.

An institution to oversee the functioning of Local Self Government Institutions in Kerala
18

(A) Lokayukta (B) Kerala High Court

(C) Ombudsman (D) Lokpal

Which one of the following is/are Government of Kerala undertaking to generate more

employment opportunities in foreign countries for jobs seekers in and out of state?
(1) Overseas Development and Employment Promotion Consultants (ODEPC) Ltd.
(11) NoRKA

(A) Option (i1) only (B) Option (i) only

(C) Option (1) and (i1) only (D) None of the above

Which year Mahathma Gandhi National Rural Employment Guarantee Scheme fully

implemented in Kerala?
(A) 02.02.2006 (B) 01.04.2007
(C) 01.04.2008 (D) None of the above

The online consultation programme of Kerala Women and Child Department for women
commenced in February 2021 aimed at resolving their various issues through counseling

legal aid and police assistance is
(A) Aswasanidhi (B) Bhoomika
(C) Kathorth (D) One Stop Centres

The plan monitoring software developed by Information Kerala Mission for Local Self
Government Department of Govt. of Kerala for the formulation and monitoring of the

annual decentralized plan projects of local governments is
(A) Sulekha (B) Sanchaya
(C) Sugama (D) Samvedhitha

Who is the present Chairman of Kerala State Disaster Management Authority?
(A) Dr.V.VenulIAS (B) Sri. Pinarai Vijayan
(C) Sni. K. Rajan (D) Smt. Tinku Biswal IAS

-12- A
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27.

28.

29.

30.

31.

32.

Carermailey 2 6o 2 6Tesh &WMLEl BHlmieuesTrigserflesr GlewsvumienL COHUTTeneUUNHID 6(H
51 M|616DTLD :
A) Cewrsruyssm B) Cayer 2wy BHwesTmid

(C) UL svGLossT (D) Geuvmsuimey

Carer Siys wrblevsSm @ 2 6TCGerw b GCleuslCuiw|b Gousmev Ca(HLIUTE(ETHE & CleusiBm(hiaerflsv
oFHs  Ceuemev  eUMULLBENET 2 (HEUTHEGUSME  LNeiTeu(HeusTeummley  eTg/eTens

CumRsTeTHme?

1) QeusfliBTL(H Cuwum@h wHOmID Ceusmeveumilliy earg@elliy oy Grasissr (ODEPC)
(20 [T) [ [

(i1)) NoRKA.
A)  eN@mLULD (i1) wL(HIWb B) eN@ELUD (1) LL{HWD
(C)  eNLuw (1) LHMID (11) WL (HID (D) CuwGev srgiayD @evem6v

D&TSLM SMHS CHEIW SlFmwLliLm CeuemeveumiliL 2 5576UTsHS SILLLD CaHremmailsy 6rbhs 24,6507 (h)
WPemWrs QFwsLLHSSILLLE?

(A) 02.02.2006 (B) 01.04.2007

(C) 01.04.2008 (D) Gumsanlweumnisy ergiaylsuemen

FLL 2 569 HMILD STeU6LGINM 2 &aIl eLpeuld HeuFssiflet LsvGeum| NyEFlenestaeners SFLLImS
Crreswrss osmemL Casyer ClLESTSsT WMHMID (GLHMSSHET HleOMmUuIlest 6lLI6BIT S (T8 8 TewT
91,6Te06V65T Y Gevmaenens SILLLD LNLgsufl 2021 @6v ClHTLmISILLLS)

A)  seveurshf B ydsr

(C) s&rCsmis (D)  spetr 6L em)LOWIRISSTT

2 6Te6THIT STEFMRISMISET6T 6UHLIHST LiTeUevmsasLILLL SILLE SHILLRISENET 2 (hH6UTE(E)6USH M (G0
SHEBOTSH T ILILGSM (G CaHT6r HFHFletT 2 6Teah SHWTLFSESTET SHH6U60 CHI6T LOON6ST 5I6mMUITEV
2 (HEUMSBSLILLL Sl L S6evoT&meusflLIL| GlLD6sT 6l LIT(Th6iT :

(A)  &Ceumm B) sepewr
(C) &M D) sFwLCuHHT

Ca e BV CUIFILT CLO6VTETITENLD 60 6BTWLISSH6TT HHCLITENSHW HeMmEV6UTT WIT?
A)  LmsLy e Geugmm)| g0.67.6T600 B) b Nesrymis eNgwietT
(C) wub. Cs. pregesr (D) b 1gkiE Neveurmey o.65.6T610
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33.

34.

35.

36.

37.

The disease caused by deficiency of Vitamin D is :
(A)  Scurvy (B) Rickets

(C) Beriberi (D) Pellagra

The causative organism of Chicken pox is a :
(A) Virus (B) Bacteria

(C) Fungus (D) Protozoa

A scheme under Govt. of Kerala for Organ donation is :
(A) Jeevadayini (B) Sukritham

(C) Bhoomika (D) Mrithasanjeevani

The enzyme which helps in protein digestion in humans :
(A) Sucrase (B) Lipase

(C) Trypsin (D) Maltase

The Nobel prize in Medicine 2024 was awarded to
(A) Katalin Kariko and Drew Weissman
(B) Victor Ambros and Gary Ruvkun
(C) Svante Paabo

(D) David Julius and Ardem Patapoutian
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33.

34.

35.

36.

37.

66UL L LB6ST Ly (S6mMUITLLIT6V efMU(HID CHmul :
(A)  svsFe B) MN&6sLsv

©) QuNQuR D) Quevsursym

&FletTEOTLDEMLDES (8 STTEsoTLOM6sT 2 Uifl6wTLDd
(A)  emeurev B) umsefur

(C) uepemre D) yCymrLCLmGeameurm

Gasm SITHletTSLY 2 MILIL STETSHSHMST6T 62(H HILLLD :
A)  eugmuiesf] B) &sfgb

©) gy D) VmasErFouesf

wesflgFaeflsv Lrs ClEflorersSmE 2 & ClBTs :

(A)  &&Cyev B) NCusv

(©)  wAuAesr (D) wrevGLsiv

wmHSGIeusSMaeTerT 2024 Crmuey Liflg upmISLILLLE) :
(A)  sLLe6tT &HCsM HMI Lem GleulienGoest
(B) eN&Ly owliGrmeiv mmib Gasifl (mHew @6
(C)  sveumssorGL LimGuir

(D) GCLelL 2g96S w6 LMHMILD Y FEILLD LILTLY L 1gUl6bT
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38. According to Einstein, in the photoelectric effect,

(A) Part of the energy of the incident photon is used to eject the electron from the

metal surface and the remaining energy is converted into heat energy

(B) The entire energy of the incident photon is converted into the kinetic energy

of the ejected electron

(C) Part of the energy of the incident photon is used to eject the electron from the
metal surface and the remaining energy is converted into the potential energy

of the ejected electron

(D) Part of the energy of the incident photon is used to eject the electron from the
metal surface and the remaining energy is converted into the kinetic energy

of the ejected electron

39. In which direction does a body always move?
(A) In the direction of its velocity
(B) Opposite to the direction of its velocity
(C) Perpendicular to the direction of its velocity

(D) Can be in any direction as (A), (B) or (C)

40. The refractive index of the material of a given glass plate :
(A) Depends on the angle of incidence of light used
(B) Depends on the intensity of the light used
(C) Depends on the wavelength of light used

(D) Isa constant

41. The Indian Space Research Organisation (ISRO) successfully launched the EOS-08
Earth Observation Satellite on :

(A) 1 dJanuary 2024 (B) 16 August 2024
(C) 17 February 2024 (D) 22 July 2024
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38. etTenvIestT Lilg, sperflfletTenT(L05H S elenemailey :

(A) sbusu SGUTLLTesflstr mMEdletT ¢ LEGH 2 Ceoums CuOHuIlfNe @) (HHE
sTeusLymenest GleusflGumML LweTUHISIMGI, BHW6TeT UMHMEL GleuLiLl Y MMEVTS
wrHOUUHISE DS

(B) &busu SGumiLmesfletr W <mmevd QeueflGummLILLL eTevsLyTesflesT @\WisHs
QL,MMEVTE IHMULIHIEIDSI

(C) &wbusu coCumiLmesllesr oummedlsst @@ LGH 2 Ceooms GCuourlifey @ mHa
sTeusLymenest GleusflCummL LweTuHIEIMGI, s peTer mmev GCleusflCGummLILILL
6TeV&LITTesflesT FTSHSIWILDTET Y MHMEeVTs LTMHMLUILIHE M

(D) sbusy SGUTLLTesllelT wMMedSlstT e LGH 2 Coums CoOHUTLING @(HHa
sTeusLymenest GleusflGummL LweTu(HISEIMGI, s peTsm mmev GCleusflGumMmLILILL
eTeVSLTTesflesT @ WSS U MMeVTs TMHMLILHIEMS)

39. @@ QummeT erICUTEID 6THS Henaguile B (HD?
A)  om6tr Ceussdlett Hlemauisy
(B) oipett CousgHletr Hlenas g, erHT Henguilev
(O)  oim6tr CouasHler Hlenas @ C\FmIGHS5TH
D) (A), (B) si6v605 (C) stewt 6Tha HlenguNew|d @) (HES60MLD

40. Qsr{H&sLULL setoTesTTes &Syt Clum(merfle eerflaNsvassy GHmIuI(H) :
(A pweruESBULED efufer Blspe CaTenTsamsi CUMMISSS
(B) uwwetussLILEHLD eeflulesT HaNlT&HamaLt ClUMmI&HS S
(O) uweTu@BSSILHID seeNuN6sT SeMEVIHETSHEMSLI CLITMISHSH S
D) @@ vl

41. @pHwu  efNeswrQeusll  rmiusd)l  oemwiy  (ISRO) EOS-08 uyfl  sewsmesfliy
CEwhHemasGasTener Cleummsrors gellig) :

A) 1 mevteurfl 2024 (B) 16 syseivl 2024
(C) 17 Yageur) 2024 (D) 22 gg9emev 2024
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42. Which of the following shows the correct order of elements in the periodic table based on

Increasing atomic number?
(A) Sodium, Magnesium, Aluminium, Silicon, Phosphorous
(B) Magnesium, Aluminium, Phosphorous, Sodium, Silicon
(C) Sodium, Aluminium, Silicon, Phosphorous, Magnesium

(D) Aluminium, Phosphorous, Silicon, Sodium, Magnesium

43. Graphite is a of carbon.
(A) Isotope
(B) Isobar
(C) Alloy

(D) Allotrope

44. The pressure at which a liquid’s vapour pressure equals atmospheric pressure is called :
(A) Freezing point
(B) Melting point
(C) Boiling point

(D) Condensation point

45. Which recently discovered element source in India is crucial for the future of electric

vehicles?
(A) Uranium
(B) Lithium
(C) Cobalt
(D) Graphite
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42. ofsfHEL S| eTevoTessilerT SPLILIEMLUNGD STV L LeUeneseTuNey 2 66T Sesflomigerflest

gflwmes suflengenwis &l (heug) 6rg)?
(A)  Camgwid, GwsesfAwid, ey desflwid, HeSl&amesT, LmevLITsv
(B) OQusefflwb, sievibdlesflwi, Lmsuigsiv, Camguwib, Fled&samesr
(C) GCemgwid, Hevidlesiiwid, Hled&emesr, LMeLIFs, GILogest Flwiid

D) sisdlesflwbd, umsougsi, Feddamer, CamgwiD, Glo&esf Wb

43. FlymeeeniLIL eTetTLIG| SML6esfledT oy GLb.
A) =CFmGLmiy
B) Csmumy
(C) seumul

D) oGsum Gyl

44. e SHlysusHlet Hrmell S (WSS eUEIDETITLE H(WSHSHSH MG FLOWME @) (HEHLD (WSS :

A) 2empheney

B) 2 mEHemev
(C) QarHiblensy

D) ebOs&sHem60

45. @nHwuraley LSS L sevoT(hHUgSESELILLL 6THS S65ID eLPEVLICILIM(HET L56TTEITIT 6LIT8 60T Mg 6rfl6oT

THTHTVSHEHM G, (P&HWLomeTs)?
A yCresfluw
B) egHwid

(C) GamumsuL

D) Hymeoemul
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46. How many runs did Virat Kohli score in Test Cricket before retiring?
(A) 8450 (B) 9230

(C) 9010 (D) 8895

47. What is the name of the new capital city being developed in Indonesia?
(A) Jakarta (B) Bali

(C) Nusantara (D) Surabaya

48. Which Buddhist art form, recently in the news, is made using a fixed grid called “sor,”

where the drawing and coloring must follow set rules without any changes?
(A) Madhubani (B) Thangka
(C) Pattachitra (D) Kalamkari

49. Where are the Gamburtsev Mountains located?
(A) Under the Arctic Ocean
(B) Beneath the Sahara Desert
(C) Under the East Antarctic Ice Sheet

(D) In the Andes Mountains

50. Which hypothesis suggests that poor nutrition during foetal development can lead to
long-term changes in metabolism and organ function, increasing the risk of adult

diseases such as type 2 diabetes and hypertension?
(A) Germ Theory
(B) Barker Hypothesis
(C) Miasma Theory

(D) Central Dogma
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46.

47.

48.

49.

50.

euiay CuMIuEME et el Camed ClLenL iflH61& L1960 6T556N68T T65TEH6T 6T(H &S T ?
(&) 8450 (B) 9230
(C) 9010 (D) 8895

@ bCsTCTAWTeN 2 (HeuTHSLILIL(H 6u(HLD LHW Hensvbssiflesr QW ereresr?
A) oarigsT B) wumed
©) mensyT D) syuwmr

FbugHlev CFLIH &6V aUbhs 6THS LSS He06V 6UlgeUld, “Camy” sTestLILI(HID HlensuwimesT HLL&emaLI
LweTUh &S 2 (HeUTSSLILILLE], (G 6UNTSHE0 LDMMILD 6L6TITETITLOWILDTESS6) 6T[HS LDITM M IS (6THLD
@sveurmoey HFewsruN eIt L eNHlaensTLl NesTumm GouessT(Hid?

A)  wguesi B) smsr

(C) ulLmAsym D) ssus

STLLTLCa6l LemEVSET 6ThICa e0LDMHE 666t
D)  isies QUBRISLEO6T &L
(B) Fammym umensveuesTSHl6tT SLp
(©) &lsE sesoTLmigs LsslliLLevGHet SLp

(D)  <yevETIgEN WEDELEHETIE

&M eusmygHullerr Gurg oalLEssSsH Geooumh euemiFlens wWIHMWL WLOMILD 2 ML
ClEwsLLIMLIg60 [HEBITL&TEY TMMHEISEHEE 6ubleuEGaEh, @& eusms 2 Biflfle] wOHMIL 2wy
@55 HWSHSSWDL GCumeTm euwGSleubhs CHTUSET HUTWSHS HSSFEEG0 6r6Tm 6HS
&(HBICHT6T FamIH Mg ?

Q)  Hm Camiump)

B) umiQsL &@maCamsT

(C)  Wlwmsivomr Gamium()

D) wgHw Camiump
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51.

52.

53.

54.

55.

A man buys a field of agricultural land for Rs. 4,20,000. He sells one-third at a loss of
20% and two-fifths at a gain of 25%. At what price must he sell the remaining field so as

to make an overall profit of 10% :
(A) 1,40,000 (B) 1,20,000

(C) 1,00,000 (D) 1,50,000

A group has boys and girls in the ratio 8 : 5. If one boy and three girls join in, the ratio

becomes 3 : 2. Find the number of girls originally in the group.
4) 15 B) 28

(C) 42 D) 35

40 persons can repair a bridge in 15 days working 8 hours a day. In how many days will

30 persons working 10 hours a day complete the work?
A 15 (B) 16

(©) 10 D) 12

The width of the path around a square field is 3.5 m and its area is 105 m2. Find the cost

of fencing the field at the rate of Rs. 80 per meter.
(A) 1240 (B) 1200

(C) 1280 (D) 1260

The sum of all odd integers between 10 and 100 divisible by 3 is :
(A) 845 (B) 867
(C) 876 (D) 855
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51.

52.

53.

54.

55.

(T Lesflg 6T 6(h edleusml hlevgens em. 4,20,000 &g eurmi@G&lmmest. epssTnilev e Likieng 20%
BOHLSSIVID, bHlev @ et Lmiens 25% sorughlevid eNh&Elmmesr. 10% Glbrgs sumrud FLL
Bgeier Blevsens 6Thg 69lenevs & a9ma CeuesoT(HI :

(A) 1,40,000 (B) 1,20,000

(C) 1,00,000 (D) 1,50,000

QR & Wellev 8 : 5 etedTm 69ESHE5H60 2 68T (STHLD GILIETITSH(ETHLD 2_6ITEM6TTIT. 62(H 6MLIWLISHILD ELP6dTM)
CluesorasEBL CaimheTev, all&led 3 @ 2 & WwTmb. Guelsy Wsedley = sTem GlLstorasrflest
6T6B0T600 1860868 W& &650TLMIWIGLD

A) 15 (B) 28

(C€) 42 D) 35

40 Gury e uTeLEMS 15 BILseEfl6L e(F HTem6TsE 8 Wwewsfl CHIL GCeueney GlFUIg FHOFWIW
(WPleWLD. 6(h BreneTs @, 10 wessfl Cryb Cousmev QFWIW D 30 CUIT T emest BTL &L Cousmevenw

(PYLILITTE6T?
A) 15 (B) 16
(C) 10 D) 12

R FHIT eUWenevs &HMHmlujeTer LTenguleT &Heud 3.5 B wmMID Heor uliveTey 105 52
6UWIEY|& (G Cousdl SiemwliLgEMETeT ClFsvensu LBLL (HE &, em. 80 eTesTm 69155 S50 &metorss :

(A) 1240 B) 1200

(C) 1280 D) 1260

10 @pgev 100 suenyullevmerr SieneTSHS RDENMLILIEHL (LP(Y 6TevoTSH6r 6T Fal (HHCIBTMSE 3 60

auEGUHILCUTE SlenLLg) :
(A) 845 (B) 867
(C) 876 (D) 855
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56.

57.

58.

59.

60.

In a certain code FOUR is written as 24, then how will FIVE be written in the same

code?
(A) 42 B) 32

©) 24 D) 27

Pointing to a girl in the photograph, Sanal said, “Her mother’s brother is the only son of

my mother’s father.” How is the girl’s mother related to Sanal?
(A) Aunt (B) Mother

(C) Sister (D) Grandmother

If Thursday falls on 10%* December 1981, what day of the week will fall on
10tk December 19917

(A) Monday (B) Saturday

(C) Friday (D) Tuesday

A man walks 4 km towards south and then turns to the right. After walking 3 km he
turns to the left and walks 4 km. And then he goes back 9 km straight. Now in which

direction is he from the starting place?
(A) South (B) West

(C) South- East (D) North - West

If the reflection in a mirror of a 12-hours clock shows 2 : 35, what will be the original

time?
(A 10:25 B) 9:25

(C) 10:35 M) 9:35
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56.

517.

58.

59.

60.

®m GOULL utysy FOUR esttug 24 eteor erpaluiLmey, 65 @mluiiysy FIVE
ereusUMM) 6T(PSLILI[HILD?

(A) 42 (B) 32

©€) 24 D) 27

Lem&LILL&E60 2 6T6I 6@(Th ClLIGTITem6wTE: Sl 19 &ML Ly, F6UT6V, “H6U(ETHEnLW STulest FCHTSHTIT eT6oT

smulletT SHensUNeT @Gy &6 eTeTMTY. SBSL GCluestreriledT STl FesTa|L6edT 6TeleUmm)

Q&TLLemLWeuF?
Q) <55 B) obwr
(C) &Carsif D) wumiy

eNwmpslpsnw iwebury 10, 1981 gyettm) eubsmev, eurys et erbg mreT wabui 10, 1991 oyestm)

6u(HLD?
Q) Hruser B) gef
(C©) Qeusirerfl (D) Qe&sueuml

@ wesf g6 ClsmE Crradl 4 &5 LB Clastm NetTery susugILMD SRS MTT. 3 &5
BLBS LNm@E @L&ILMD S 4 &6 BLESmmest. Nesresty Cryme 9 &).16 Sl(HULLING Clesvdmmesr.
@UGUTE Si6u6iT QOFTLES QLESH O (HHEI 6THS HlengFuilev @) (H&H mmesT?

@A) Csne (B) Cope

(C) OQserdss D)  eLsE-CuHeE

12 wessfl Cry syaTrsHSlstr Hevoresormiguiley KNFHLeOy 2 @ 35 w8 Slgermev, Hgev CHFD
ETEOTEBTOUTE @)(THE (&7
(A) 10:25 B) 9:25

(C) 10:35 M) 9:35
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61. He abdicated his throne his eldest son.

Fill in the blank space using a phrase preposition

1 for

(i1) 1in reference to

(i11) 1in favour of

(1v) none of these
4 @@ B @
©) @av) D) ()

62. Locate the meanings of the idioms from the options given below.
(a) at my fingers’ ends
(b) with a high hand
(1) on very intimate terms, undaunted by anything
(11) know it thoroughly, oppressively
(111) used utmost efforts, disorder
(iv) none of the above

A @ B) 1)
© @ D) ()
63. Insert suitable articles.

The two friends agreed to differ discussing the question

about an hour.

(1) at,in

(1) for, after

(111) 1in, at

@iv) after, for
A @ B) aw)
©) () D) @)

64. Identify the correct spelling from below.
(1) acquiesce
(11) acqiuesce
(111) acqiulesce
(iv) acquisce
Aa) @) B )
(C) () ®) @
65. Select the antonym of ‘stubborn’ from the following.
(i) tenacious
(i) biddable
(i11) intransigent
(iv) none of these
A) () B @
©) @ D) ()
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66.

67.

68.

69.

70.

Identify the Synonym of Consanguineous
(1) Contagious disease

(i1)) Unresponsiveness

(111) Of the same blood or origin

(1v) None of these

A) (i) B) @
© @) D) (i)

One word for extreme fear of ghosts and other supernatural beings.
(i) tomophobia

(i1) ophiophobia

(111) phasmophobia

(iv) nyctophobia

A)  (@Gv) B) (id)
(©) (i) D) @

He inquired whether his name was not Ahmed.

Change into direct speech

(1) He said, “Is your name Ahmed?”

(1) He said to him, “Are you Ahmed?”

(1)) He said to him, “Is not your name Ahmed?”
(iv) None of these

4) (@) B) (auw)
©) () D) @
Choose the correct answer.
The guidance, as well as the love of a mother, wanting.
1 was
(11) has
(i11)) were
(1v) none of these
4) (@) B @)
© @ D) (1)

If only I were young again!
Change the above exclamatory sentence into assertive sentence
(1) I want to be young again.
(i1) I wish I were young again.
(i11) I wish I was young again
(iv) none of these
A) (i) B O
(C) (1) D) (@)
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71. The reason for expressing the speed of a computer in the unit of Hertz is that :

(A)

(B)
(©)
D)

The average of both bridge controllers switching speeds per second

determines speed
North Bridge controller switching frequency determines it
South Bridge controllers switching frequency determines it

It’s the number of clock pulses per second generated by the clock generator

72. After a reset signal obtained by the computer , the program counter or the instruction

pointer is loaded with :

(A)
(B)
(©
D)

The starting address of ROM
The initial address of harddisk track 0, sector O
The initial address of harddisk track 0, sector 1

The starting address of L1 cache memory

73. Which statement of the following is correct in the descending order of access time?

(A)
(B)
©)
D)

Registers, RAM, ROM, Harddisk
ROM, RAM, Registers, Harddisk
Harddisk, ROM, RAM, Registers

Harddisk, RAM,ROM, Registers

74. Hexadecimal numbers are used by :

(A)
(B)
(©
D)

Computers to represent memory location addresses
Computers to represent data in memory locations
Computers to represent data and address of memory

By human to easily represent large binary combinations
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75. Unicode systems :
(A) 16 bit code and can represent 65536 characters
(B) support data exchange internationally
(C) Dbe said as the only code used by Java only

(D) represent all characters in word

76. “Let it appear here also as there” , Which function in MS word offers this?
(A) Conditional formatting (B) Highlighter
(C) Format Painter (D) Paste special

77. “Save as” option in the menu
(A) Saves a file always
(B) Get copies of file always
(C) Get a copy of file if different filename is given

(D) Saves the file first time and get a copy of file if different name is given second

time

78. Pressing Ctrl key and right arrow in excel will :
(A) Move the value in current cell to next cell
(B) Cursor is transferred to last column
(C) Increments the value of current cell by one

(D) Just moves the cursor to next empty column in right side

79. Circular reference is occurred in Excel during
(A) Same cell address is referred in the cell’s equation
(B) Value loss due to use of format cells usage
(C) Adjacent columns are referred in an equation

(D) Protected cells are a part of the given equation
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80. In a powerpoint presentation, I would like to control the order of the slides which are
presented one by one. Which feature can be used?

(A) Slideshow (B) Rehearse timings
(C) Custom slideshow (D) Change slide number

81. Data abstraction in C++ is implemented in the language using the keywords :
(A) class, object (B) private, public
(C) abstract , void (D) abstract, protected

82. The value of ¢ after executing the expression, float c =3 + 5/2 + 7/2:
4) 9.0 B) 5.5
() 80 D) 7.0

83. The usage CLR in VB.NET refers to
(A) Clear the screen at once
(B) Common Language Runtime
(C) Clear Language Routines

(D) Console reset for restart

84. Which one of the following is correct usage in VB.NET?
(A) Console.Writeline(“The answer obtained is”, ans)
(B) Console.Writeline(“The answer obtained is %d”, ans)
(C) Console.Writeline(“The answer obtained is {0}”, ans)

(D) Console.WriteLine(“The answer obtained is {0}”, ans)

85. A database designer has created two tables namely product and stock and he wants to
restrict the entries in product codes in product table so that the entry should be allowed
only if that product code exist in stock table. How can it be implemented?

(A) Setting up foreign key

(B) Setting up primary key

(C) Setting up constraints

(D) Using referential integrity feature of foreign key
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86. A new column needs to be created in an existing database table named STUDENT with
field name DOB which is of date type. Identify the correct DDL query.

(A) Alter table STUDENT add constraint DOB date
(B) Alter table STUDENT add DOB date

(C) Alter table STUDENT add column DOB date
(D) Alter STUDENT add column DOB date

87. Having is a keyword used along with
(A) select queries (B) group by clause

(C) for giving conditions (D) all of the above

88. HTTP is the protocol used in
(A) Application Layer (B) Transport layer

(C) Session Layer (D) Network layer

89. How can we create hyperlinks so that the new page opens in a new window?
(A) By using rel attribute and by giving it’s avalue as “external”
(B) By using target attribute and setting its value as _blank
(C) By simply giving HREF without attribute

(D) By using rel attribute and by giving it’s avalue as “next”

90. A textbox in a webpage accepts phone numbers, How can I restrict the entry only to

accept numbers from browser side?
(A) using javascript code
(B) using HTML code

(C) using VB.NET code
(D) all of the above
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91. ‘File’ eretrm gy ruflevd QFTeL6Y|& (& @)en6estTWITETS SLONDEFCIFTEL Wimg)?
A) Cammig
(B) GCamiy
(C) GasmiLd
(D) GCasmsd

92. oyewflulley Canrsenss sevoT(HLNgs 8 6T(D8IS :
(A)  sszID
B)  sieomid
©) s
D)  emEwD

93. ‘sriLmm’ - @&6FTsvensug Fiflwme emmuNev NG g eT(W&Is :
A) sml+Lmmy
B) &miH + o
€) &l + 2l
D) &m+oum

94. ‘BouHsL - THTFCFTE FH(HS
B)  mésd
(B) Qgefley
(C) gletrud
(D) Qsmsvemsv

95. QL Nenwpenw B8 (&S :
(A)  CuarssT eTCnTOLTETM (F:LHE ClSTeTLg).
(B) Cusib @etCmrelLTeTm| @50ha)I 68 TesrL6or.
(C) GuanssT @aTENTELTETN) (L HSHSI.
(D) CushisssT eTCMTOLTETMI (F:LPHE ClamessTL6uT.
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96. “While there is life, there is hope” - #flumer LCLTNS CFTLEOTS SH6voT(HLN9E G 6T(LDSIS :
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